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i) General Awareness

What is the main aim of the Sagarmala

project of Government of India ?

(A) To develop beaches along the
coastline of the country to attract
tourism

(B) It's a port-led infrastructure
development programme of the
government to harness India's
7,500 km coastline

(C) Toconstruct a sea bridges between
coastal cities to easy movement of
goods vehicles

(D) None of the above

Which of the following citizen-based
website/portal of the government
will help to exchange information on
missing and found children 7

(A) Khoya Paya portal

(B) NARI porial

(C) Nyay portal

(D) None of the above

What is the main aim of the Atal Bhujal
Yojana of the Government of India ?

(A) Aimed to allocate the land for poor
landless farm workers

(B) Aimed to create the water sources
like borewells, ponds in the remote
villages of the country

(C) Aimed at sustainable ground water
management with community
participation in select over-exploited
and ground water stressed areas
in seven States

(D) None of the above

“Mission Satyanishtha"-Ethics in public
govemance, is launched by the ministry of
(A) Railways

(B) Civil Aviation

(C) Tourism and culture

(D) None of the above

9.

10.

Global Slavery Index 2018 released by
(A) UNICEF

(B) UNESCO

(C) Walk Free Foundation

(D) None of the above

- Global Education Monitoring Report

2019 released by

(A) WHO

(B) UNESCO

(C) Smile Foundation
(D) None of the above

Which of the following ministry of
government of India launched the
Operation Digital Board ?

(A) Ministry of HRD

(B) Ministry of Defence
(C) Ministry of Commerce
(D) None of the above

Which of the following hormones has
been misused for increasing milk
production in animals and to increase
the size of vegetables ?

(A) FSH

(B) Oxytocin

(C) Thyroxine

(D) None of the above

Neora Valley National Park is in the
state of

(A) West Bengal

(B) Kerala

(C) Himachal Pradesh
(D) None of the above

Tehri Dam is in the state of
(A) Assam

(B) Jharkhand

(C) QOdisha

(D) None of the above
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12.

13.

14.

15.

Which of the following ocean animal shall
come under the category of mammals ?

(A) Sea cucumbers
(B) Dugong

(C) Starfish

(D) None of the above

Which of the following statement is/are
true about Chandrayaan 2 of ISRO ?

I. ItisIndia's second lunar mission to
the moon.

Il. Itaims to explore the Moon's south
polar region.

(A) Only option | is true
(B) Only option Il is true
(C) Both the options | and Il are true
(D) Both the options | and |l are false

Khajuraho a group of temples also a
UNESCO world heritage site is in the
state of

(A) Karnataka

(B) Maharashtra

(C) Madhya Pradesh
(D) None of the above

Which of the following monument is
printed on the back side of the new
Rs. 50 currency note issued by a RBI ?

(A) Hampi Stone Chariot
(B) Qutub Minar

(C) Dewan-l-am

(D) None of the above

Which of the following species of
Mosquito transmits the zika virus ?

(A) Yellow fever mosquito
(B) Haemagogus mosquito
(C) Aedes aegypti mosquito
(D) None of the above

16.

17.

18.

19.

20.

Which of the following disease not
caused by virus ?

(A) Hepatitis

(B) AIDS

(C) TB

(D) None of the above

In which of the following state Diffo
Bridge was recently inaugurated, which
provides all weather road to the troops
deployed on the China border ?

(A) Arunachal Pradesh
(B) Meghalaya

(C) Mizoram

(D) None of the above

A traditional Indian classical dance form
Kathakali is native to

(A) Odisha

(B) Kerala

(C) Andhra Pradesh
(D) None of the above

Kadaknath, a breed of chicken which is
in high demand due to its high protein
and low fat, is native to which of the
following state ?

(A) Karnataka

(B) Madhya Pradesh
(C) Odisha

(D) None of the above

What is the scientific name of baking
soda 7

(A) Sodium bicarbonate

(B) Sodium carbonate

(C) Sodium sulphate

(D) None of the above



il

12.

13.

14.

1.

frefeifaa H ySa-an
1 oroff & aranr 7
(A) |YZ i

(B) F
(C) darI uSett

(D) 3% H € Fs A&

TG % 9599 2 % 91 § f=fafaa d |

FHA-TFIT AR 7 |

|. 8 =ie T R 1 740 AR v 2

Il. 78 did = 2ol gdia & F @A ®
A 2l

(A) Fa famreT 1T 2

(B) Fad fsFeq 19T 2

(C) Tasea | s T B

(D) fomre | 3R 11 391 T 8

@GR, "idll 1 U TE 3R L3l &
fava forma T —— TR H R

(A) FAEH

(B) WeTTSg

(C) Hed qew

(D) % H & FIE T

TS R ST feram T 991 50 %9U
e & 18 fefaigs & 8 F19-91 W
gfza g ?

(A) = ST ™

(B) Fqa HFm

(C) dEH-T-31TH

(D) I H 8 I3 7

F=fafaa 9 @ geat it FR-H1 w=rfa
SfrenT fammo] e & 7

(A) dieT FER T

(B) EHITH Tt

(C) ufes It g=mn

(D) I H I 1S e

Tl Sfa TR

16.
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22.

23.

24.

25.

26.

ii) General Intelligence and Reasoning Ability

Choose the correct alternative that will
continue the pattern.

1,2,6,7, 21,22, 66, 67,7
(A) 70 (B) 134
(C) 201 (D) 301

Choose the suitable option to replace
the ‘7’

Q1F, S2E, ueD, W21C, ?

(A) Y44B (B) YeeB

(C) Y88B (D) Z88B

Choose the correct alternative.
Magazine : Editor : : Drama : ?
(A) Director (B) Player
(C) Manager (D) Actor

If VEHEMENT is written as VEHETNEM
then how MOURNFUL be written in that
code language 7

(A) MOURLUFN
(B) MOUNULER
(C) OURMNFUL
(D) URNFULMO

If FLARE is coded as 21, 15, 26, 9, 22
then how would BREIF be coded in the
same language ?

(A) 25,9, 22,21, 18
(B) 5,37, 11, 19, 13
(C) 13,19, 11,37,5
(D) 25,9, 22, 18, 21

In a certain code language 461 means
‘where are you’, 169 means ‘you are
good’ and 8652 means ‘flowers are not
bad'. What is the code for ‘good’ 7

(A) 4 (B) 9

(C) 6 (D) 1

27.

28.

29.

30.

31.

Find the missing character from the
given alternatives.

716 5 [21 21]7
6 13 ?

(A) 4 (B) 8

(C) 20 (D) 14

P, Q, R and S are four males. P is the
eldest in the group but he is not the
poorest, R is the richest but not the
eldest, Q is elder than S but he is not
elder than P or R, P is richer than Q but
he is not richer than S. How the four
persons can be arranged in decreasing
order of their age and money ?

(A) PQRS, RPSQ
(B) PRQS, RSPQ
(C) PRQS, RSQP
(D) PRSQ, RSPQ

In a row of children facing North, Ritesh
is 12" from the left end. Sudhir, who is
22nd from the right end is 4'" to the right
of Ritesh. Total how many children are
there in row ?

(A) 35
(C) 37

(B) 36
(D) 34

If @ means x, ¢ means +, % means +
and $ means —, then 6%12c3@8%3 = 7
(A) 37 (B) 39
(C) 35 (D) 33

Pointing towards a girl, Arun said, “she
is the only daughter of my grand father’s
son”. How is that girl related to Arun 7

(A) Daughter

(B) Sister

(C) Cousin

(D) Data inadequate
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il s gfu it fiodimas | | 27, fouw fasedi 4 & g @@ 3@ |
1,2,6,7, 21,22 66,67, ? =TE 51371 [33]5
(A) 70 (B) 134
(C) 201 (D) 301 6 13 ?

. (A) 4 (B) 8
‘2" = Wiazeiyg #3 & fore wd fawen (C) 20 (D) 14
gL | .
Q1F, S2E, USD, W21C, ? 28. P,Q,R¥INSTMIRE | P HE H Tl
(A) Y448 (B) Y668 g1 & 7ig FE T T €, R & i R
(C) Y88B (D) Z88B AT Ted 981 781 8, Q, S T F21 & Aok

98 PTRATAE 2, P,QH iR 2

g fasrew 9w | WA 98 S § fes s 78 2 | AW

s - U ;  AeF 7
(A) Tieem B) faers
(C) J=ie= (D) 3fa

gfe VEHEMENT %1 VEHETNEM feran
STl 8, @ MOURNFUL &1 361 32 91
4 ¥4 fora 5o 7

(A) MOURLUFN

(B) MOUNULER

(C) OURMNFUL

(D) URNFULMO

afa FLARE &1 &2 21, 15, 26, 9, 22
3t 2 9T ° BREIF F# for@t smom 7
(A) 25,9,22 21,18
(B) 5,37, 11,19, 13
(C) 13,19,11,37,5
(D) 25,9, 22, 18, 21

UF F2 9T H 461 F1 A4 B ‘where are
you',169 @1 314 2 ‘you are good' 3N
8652 &1 74 ? ‘flowers are not bad' |
‘good’ F1 FZ T8 ?

(A) 4 (B) 9

(C) 6 D) 1

A 1 3 30 £ 3 T W 1 A
FaH?

(A) PQRS, RPSQ

(B) PRQS, RSPQ

(C) PRQS, RSQP

(D) PRSQ, RSPQ

29. I ! AR He [T gu areTshl 1 U ufad
% frgwr and S7d § 1297 ® | gHw 2 SAq
go2a AR faw Fed @ =ian & | i

4 ge e =1 2 7
(A) 35 (B) 36
(C) 37 (D) 34

30. AR @FIWEx, cHITE+, %FIAE+
AN $H I B — A16%12c3@8%$3 = ?
(A) 37 (B) 39
(C) 35 (D) 33

31. TF AeH il I T Fd gL 3770 4
e, "9E UL 31aT & Y3 I Aehell P & |
€ T HEU 4 {8 TR Tefed 8 7
(A) T
(B) siEd
(C) ==fl /g4
(D) HTHe T
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32.

33.

34.

35.

36.

T, S and R are three brothers. T's son
Q is married to K and they have one
child Rahul blessed to them. M the son
of S is married to H and this couple is
blessed with a daughter Madhvi. R has
a daughter N who is married to P. This
couple has one daughter Karuna born
to them. How is Madhvi relatedto S ?

(A) Daughter

(B) Niece

(C) Grand daughter
(D) None of these

From 1 o'clock afternoon upto 10 o’clock
in the night, the hands of a clock will be

at right angle times.
(A) 9 (B) 10
(C) 18 (D) 20

Find the number of days from
26" January, 2011 to 23 September, 2011
(both days are included).

(A) 241 (B) 214

(C) 249 (D) 251

| was facing East from where | turned to
my left and walked 12 ft. then | turned
towards right and walked 6 ft. After that
| walked 6 ft. in South direction and at
last | walked 6 ft. in the West. Then, in
which direction am | standing from the
original point ?
(A) West

(C) South

(B) East
(D) North

Which of the following words will come
4™ in the English dictionary ?

(A) False

(B) Follow

(C) Faithfully

(D) Fool

37.

38.

39.

40.

How many 7's immediately preceded
Dy 6 but not immediately followed by
4 are there in the following series ?

7427643675357843
7672406743

(A) One (B) Two

(C) Four (D) Six

If P denotes ‘multiplied by’, T denotes
‘'subtracted from’, M denotes ‘added
to’ and B denotes ‘divided by’ then
28B7P8T6M4 = ?

-3

A — (8) 30
(C) 32 (D) 34

Arrange the given words in a meaningful
sequence and then choose the most
appropriate sequence.

1. Curd 4. Milk

2. QGrass 5. Cow

3. Butter

(A) 2,5,4,3,1 (B) 4,2,5,3, 1
{C) 52,3445 (D)i5:2, 8.3, 3

In a certain office, -;- of the workers

1
are women, 5 of the women are
: 1 )
married and 5 of the married women

have children. If g-of the men are

2
married and 3 of the married men have
children, what part of the workers are

without children ?

5] &
A 15 ® 3
11 17
©) 15 ©) 35
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T,SeRRATI9E R | T 73 QI foam
K & g1 2 31 391 U =91 TEd 21 M,
S 1 33 H 8 faanfed 2 3 39 us Gl
areret 2 | R & ue oot N 2 e faame
P8 B3 2 | 39 el il U T e 2 |
el 1 S 8 F=1 HEY B 7

(A)

(B) Wil

(C) dHf

(D) H | 1S T

FTELH 1 T A 10 7 Td d TS! ! gga1
N GHHII T B |

(B) 10
(D) 20

(A) 9
(C) 18

26 akl 2011 | 23 faqaw, 2011 9= faai
6 g 31a Fifse (3F1 feq afmfea B) |
(A) 241 (B) 214
(C) 249 (D) 251

Biqd il o ge fFmgan o, seT & 8
HYH ATE {1 R 12 $e e R & 3nd
731 31 6 T2 = | 35 e H 6 B afewr
o 9o 9 31 ° ufvaw § 6 e el | I,

g fe d frm R d w=r§ 7
(A) T (B) 7o
(C) aigm (D) I

FH-G1 762 TS yee o Y WH W
ST ¢

(A) False

(B) Follow

(C) Faithfully

(D) Fool

37.

38.

39.

40.
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® 3 ®) 30

(C) 32 (D) 34

fau v y=Ei F vF ioE F § =T
IfST 3R gaifes 39 #8 I |

1. @& 4. 39

2. U™ 5. TH

3. HHEA

(A) 2,5,4,3,1 .(B) 4.2.9;3, 1
(C) §5,.2,8.4.1 (D) 5,2,4,1,.3

s e i, - e A 8 2
Fawa &1 af S gew frarfea # s :
eyt et 3 s ¥, Fer smetamt) fomm
et At # 7

5 4
(A) g B) g
11 17
€) 15 (D) 3g
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41.

42.

43.

45.

iii) Arithmetical and Numerical Ability

The fourth term of an A.P. is equal to
3 times the first term and the seventh term
exceeds twice the third term by 1. Then
the A. P. is

(A) 5.7, il .
(B) 3,56,7,98, ..
(C) 1,23,4, ..
(D) None of these

The number of terms of the A.P. 15, 10,
5, ... should be added to make the sum
—751s
(A) 11
C) 9

(B) 10
(D) None of these

Mr. A and Mr. B borrowed Rs. 3,000 and
Rs. 4,000 respectively from a money
lender on the same day at the same rate of
simple interest. Mr. A repaid the loan after
2 years and Mr. B after 4 years. Mr. B paid
Rs. 1,500 as more interest than Mr. A. Then
the rate of interest is (in percentage)

(A) 15% (B) 12.5%

(C) 10.5% (D) None of these

A two digit number contains the smaller of
two digits in the units place. The product is
40 and the difference between the digits
is 3. Then the number is

(A) 58 (B) 85
(C) 74 (D) None of these

A man buys an article for Rs. x and sells
it for Rs. 21 for a loss of x%. The value of
X is

(A) T300r70

(B) T100rX 60

(C) T500r% 40

(D) None of these

46.

47.

48.

49.

50.

If « and f are the roots of X2 —x + 1 =0
B

then the value of BEE + ) =

(B) -3
(D) 3

(A) 2
(C) -2

The average age of 10 students is
14 years. Among them the average age
of 4 students is 12 years. The average
age of the remaining students is

(A) 15 years (B) 16 years

(C) %ﬁ years (D) 16.5 years

A farmer walks from place P to place Q at
a speed of 10 kmph and returned back at
a speed of 15 kmph. The average speed
0i the round trip made by the farmer is

(A) 12.5 kmph
(B) 12 kmph

(C) 10 kmph

(D) None of these

The largest number which divides 105
and 315 is

(A) 105
(C) 210

(B) 315
(D) 630

In a college with 500 students who drink
atleast one of the two drinks coffee or tea,
300 take coffee, 250 take tea. Then the
number of students who drink tea only is

(A) 100
(B) 250
(C) 215
(D) 200
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(A) 5,7,9 11, ...

B) 3,5,7,9, ...

) 1.2.3.4, ..

(D) 78 | g T

Fuiat Avf 15, 10, 5, ... g
Sired | I —75 B
(A) 11 (B) 10

(C) 9 (D) T4 & 1S TE

# A3 4l B3 wF € UEFH 3 0 @
{9, U GHE ST9R0T SAT shi 0 T FHE:
% 3,000 3%, 4,00034R foru | 4t AT S
299 &1¢ o1 o TR 1 B 4 9 a1e gt
fea| afe oft B #ft AR %. 1,500 9 =T
3fferes g 1 =TS @ (Wfaem H)

(A) 15% (B) 12.5%

(C) 10.5% (D) 38 @ F1E T

T 31 3751 &) §E1 | Bl 3 TS U=
R 40 3N 3TF F 9 I 3
2, a1 T 2
(A) 58

(C) 74 (D) 39§ s e
U Afad UF 9% x &, H @lear 8 3

X% B W3 %, 21 1 5= aa1 21 a1 x T
o 2

(A) % 30A1%. 70
(B) %. 10AT%. 60
(C) %. 50%1%. 40

(D) 8 9 I3 e

(B) 85

46.

47.

48.

49,

50.
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IR 0 P, X2 -x+1=0F 4 8, Al

%-r% F UM 2

B

(A) 2 (B) -3

(C) =2 (D) 3

10 ferenféfa} 1 afvea g 14 99 2 3
8 4 foenfer it oftma oy 1239 2| @
=4 U Fenfifai i sfoa oy 2

(A) 1534 (B) 1699

() %aﬁ (D) 1654

% fFam P 8 Q 9% 10 .41, /g1 i
fd ¥ S @ 3 15 T i, /g i nfa @
A9g AT 2| foHaE gr 3 SRS i
3iEq fq 2

(A) 12.5 fe.H. /o
(B) 12 f&.H. /921

(C) 10 F.4t. /aa
(D) 98 ¥ &S T

9% Sl | 91 9.1 S 105 37/ 315 &
faarfoa =t 2

(A) 105
(C) 210

(B) 315
(D) 630

U Shiclsl (518 500 faenfe=i 4 a gs 9™
1 6 ° ¥ IS 99 91d 2, 300 Frfl ot
21 250 919 did &, 9t 9 et st ew
I fia 2

(A) 100
(B) 250
(C) 215
(D) 200
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ol.

22.

23.

Sﬂ 9 _gﬂ'
Value of (32)3_39 IS

(A) O
(B) Not defined
(C) 1
(D) —1

5 years hence the age of a father shall be
three times the age of his son while 5 years
earlier the age of the father was 7 times the
age of his son. The present age of son is

(A) Syrs (B) 15yrs
(C) 10yrs (D) None of these
T 2sin68 2cot15”

Ccos 22D % 5tan75°
4
8) %

(D) None of these

A 5
c %

If 16 cot A = 12 then the value of
sSinA + cosA , (OﬁA {geo) is

sinA - cosA
(A) 7 ® %
©) -7 ©) -4

If 20 men or 36 boys can do a piece of
work in 10 days, how many days will it
take to complete the work with 20 men
and 9 boys working together ?

(A) 7.5 days

(B) 8days

(C) 10 days

(D) None of these

56.

57.

58.

59.

60.

The area of a sector of a circle of radius -
9 cm if the angle of the sector is 45°, is

81n 2 9n 2
—cCcm —cm

A 3 B8) 5
8in .

(C) Tcm (D) None of these

Metallic spheres of radii 6 cm, 8 cm,
10 cm respectively are melted to form

a single solid sphere. The radius of the
resulting sphere is

(A) 10cm
(C) 12cm

(B) 11 cm
(D) None of these

A number x is mistakenly divided by 10
instead of being multiplied by 10. The
percentage error in the result is

(A) 99% (B) 90%
(C) 89% (D) None of these

Three coins are tossed once. The
probability of getting atleast 2 heads is

@& Ja ®) 8
© %4 o) Y

In how many ways 5 girls and 3 boys be
seated in a row, so that no two boys are
together ?

(A) 1440

(B) 14400

(C) 3600

(D) None of these



51.

52.

53.

29.
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(3°) -9°
(32)3 0 il 2

(A) O

(B) wftwriya 7&i o s gk
C) 1

(D) -1

5 o a1 U a1 1 311 38 33 i 311g
&1 o 1on &1fl, srefe 5 98 gd faar A

HY A =t Hg F G o of) g7 H
A 3G B

(A) 534 (B) 159

(C) 10aM (D) = & &g T

2sin68" 2cot15

cos 22° _Stan?5°mm%

A Js ® %

c % (D) T & FIE e

afs 16 cot A = 121 SiNA+COsA
SinA —cosA

(0<A<90°)HF UM 2

(A) 7 ®) %

e 7 o -%

uﬁ_zoaﬂ%m 36 9I%% UF & &l 10

fei o s gerd &, 91 20 =il 3iR 9 A=

=1 T8 1 = ° g g9y a ?

(A) 7.5

(B) 8fe=

(C) 10T

(D) ¥ | 18 TE

56.

<7

58.

59.
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9 ¥t B At UF 39 F UF 5%
HABE! TS &3 1 HIT 45° B

81n
(A) —g—cm (B)

81n __,
e 1 [
4

O 5
—Ccm
8

(C) (D) H ° IS A&l
= 6 OHi, 8 @Y, 10 AH FHI: F
efTfeareh 1Al 1 TTeATaRt UsF 319 TTiedT ST
a7 | ufrort et 6 s 2

(A) 10 Gt (B) 11 &

(C) 12 (D) T & FIE e
U H&AT x &1 10 H 70T A 6 5ael Terd]
¥ 109 fasfsia fora | aftorm | wiaera
Ffe 7w

(A) 99%
(C) 89%

(B) 90%
(D) ¥ 8 I 7E]

e EaRd WA TH e | FHEFY

2 ¥ = 0 W

@& Ja ®) 8

© ¥ o Y%

5 refrdl sin 3 el #1 A @
UF qfad § ST A GFa1 2 FFE A @
ASF TFH YA BN 7

(A) 1440

(B) 14400

(C) 3600

(D) 8 ¥ HIg T
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61.

62.

63.

65.

14-

iv) Hindi Language and Comprehension

&= wrwn st =y

N fFEns MR A aE 66. ToM =sHl #1 3= #=d Twg g g
(A) Fl fafsm wamt =1 w9ut foen s 2, 3
B) = S FEd & |
©) fme (A) =9 (B) i
©) v (C) uifvd= (D) 37E T
P — 67. Taemefi 92, 78 a1 F | B
3 Fed 2 Al
bymaec (B) FaHH
o i (C) wieraq
gl (D) ST AT TTeld B
(D) arg 68. fo=se = wfu fawem fefiau

(A) I +82 () g+ 3%
ud + U = €) FR+8c (D) fa+3a
(A) Wl (B) W
©) T (D) T 69. e fafau|

(37) R () dfd
ST 3 YR G TS % Sact S I1easy () e S

Y o

(A) T @) w@ (@ wh
(B) &HTH A Iz ¥ I
(C) =z AT @ F T 9
(D) TEH BE® T % T W

& % 1 g T
Fafafiad 4 @ Sd ol deam Fre Dy | & 9 %
H 7 Bt ? 70. ‘afewy weg =1 374 R
(A) = (A) Foraehl = weda &
(B) (B) Forerti wea &1 # 7w 1
(C) # (€) foueh ven = fFm s aa
(D) @ (D) forht smam & 7 = @)




71.

72.

73.

74.

79.
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T | %3 & IufeE 9 39 Iy °
W 2

(A) &3
(B) &1
(C) wm
(D) 3uferq

B He F2 a1, 36 I H1 A 2
(A) Togmads =afE

(B) =4 ¥ |Iefl 78 o1

(C) e THL T

(D) HH1 H STET Fe ST

AT I1ee

(A) gfee

(B) JI&F
(C) wfifem

(D) (A) @1 (C)3HI

GUEIEA

Y I8 = 9T
(A) Thddd

(B) @ga=A
(C) fea=m
(D) (A) 9T (B) &M

T Bra 2

&=t =maor | T =1 ar=3 T 9o
Fe 7

(A) =&

(B) i

(C) M

(D) I

76.

78.

79.

80.
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firaT ¥EaR a=% de=Td ¥ 9' I

2l
(A) TR
(B) THHF
(C) Tewrim
(D) ST YA TTeid 2
fﬁq FrgAfd = foEgufa
T 1 39 2|
(A) o (B) afg
(C) < (D) 39

TS TS ears HA| 3 I § TP
dqF’ T8 Ao )

(A) TOTETEH

(B) HEEETEH

(C) Tra=nfu

(D) uftHm =

o o =t & oy TR 3 7 o wise
O o & e, 4, ff9-ugfa siafomm
371fe & aIR | faems steee g 2 2, 39
3182 Fed Bl

(A) H1g

(B) TIIG

(C) fsram farimor

(D) fasmo

wtfer wnen 4 7 ¢ fovfe ot 2, S
AT B |

(A) SEI=H

(B) Ther=H

(C) fea=m

(D) A=A 3N Sga=H
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v) English Language and Comprehension
3T e 3 Ay :

Fill in the blanks using appropriate preposition.

81.

82.

83.

The road the two cities is being
repaired.

(A) at
(B) in
(C) through
(D) between

What you are saying is the

point.

(A) on

(B) from
(C) beside
(D) besides

Selectthe sentence whichis grammatically
wrong. :

(A) | will return after the party
(B) He is poor, yet honest
(C) He likes you as much as me

(D) She neither speaks English nor
Hindi

Select indirect speech for the following
sentences.

84.

-16-

The teacher said, “Rohit, you are weak
in English”.
(A) The teacher said that Rohit was

weak in English

The teacher said to Rohit that he
was weak in English

The teacher told Rohit that he was
weak in English

The teacher told Rohit that he is
weak in English

(B)
(©)

(D)

85.

The villager said, “Don’t go there after
dark”.

(A) The villager said that don’t go there

after dark

(B) The villager warned us not to go

there after dark

The villager told us we should not
go there after dark

The villager told that not to go there
after dark

(C)

(D)

Change the voice of the following sentence.

86.

87.

88.

‘We know the facts'.

(A) The facts was known to us

(B) The facts were known to us

(C) The facts are known to us

(D) The facts would be known to us

‘They can't lift this box'.

(A) This box can't lift by them
(B) This box can't be lifted
(C) This box couldn't lifted
(D) This box couldn’t be lifted

Select compound sentence from the
following.

(A) The horse reared and the rider was

thrown

(B) 1| know the man who said that this

would happen
(C)
(D)

Being tired, he sat down to rest

Having lost his way, he began to
cry



89. Select the complex sentence from the
followings.

(A) Heis unwell so he can't attend the
meeting

He child their wanderings, but
revealed their pain

It was owing to his father that he
succeeded

His silence proves his guilt

(B)
(C)
(D)
Fill in the blanks using appropriate idiom.

90. The news of the train accident
spread

(A) like hot cakes
(B) like wild fire

(C) inthe dark

(D) like fuel to the fire

91. He gave me the copy of the agreement

in

(A)
(B)
(C)
(D)

black and white
safe and sound
at a stretch

part and parcel

Select the one word substitution for the
following.

92. ‘Speaking without previous preparation’
(A) Heresy

(B) Invalid

(C) Extempore

(D) Infallible

93. 'Vehicle that rides on a cushion of air’
(A) Aircraft

(B) Hovercraft

(C) Galaxy

(D) Radar

-17-
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Choose the figure of spéech used in the
following sentence.

94. ‘She is as playful as a kitten’
(A) simile (B) metaphor
(C) apostrophe (D) pun

Select the synonym of the word in capital
letters.

95. WRECK
(A) help (B) construct
(C) ruin (D) joyful

96. DREARY
(A) dull (B) disappoint
(C) annoy (D) depressed

Select the antonym of the words in capital.

97. DILIGENT
(A) slow (B) confident
(C) noisy (D) peaceful
98. GENUINE
(A) fertile (B) failure
(C) fictitious (D) fake

Select wrongly spelt word.

99. (A)
(B)
(C)

(D)

Allagory
Purgatory

Territory
Oratory

100. (A)
(B)
(C)

(D)

Exceed
Recede
Accede
Superced



MKG-XX/TECHLIB/17/05

101.

102.

103.

104.

105.

SECTION-B

U0 0 0O 00

Post Specific Subject-Related Questions

The second law of library science is
(A) Library is a growing organism
(B) Books are for use

(C) Every reader his/her book

(D) Every books its reader

The organization established with the
aim of streamlining the procedures of
book trade and follow the uniform terms
of book suppliers to libraries was

(A) Good Offices Committee
(B) IFLA

(C) Indian Library Association
(D) UNESCO

The term ‘Bespeaking' refers to
(A) Reservation of periodicals
(B) Reservation of books

(C) Book selection principle
(D) A budget technique

In India, which University started a one
year course leading to post graduate
diploma in library science ?

(A) Delhi University

(B) Mysore University

(C) University of Madras

(D) Aligarh Muslim University

Which of the following public library was
granted the privilege of legal deposits
for southern region under Delivery of
Books and Newspapers Act ?

(A) Connemara Public Library

(B) Central Library, Bombay

(C) National Central Library, Delhi
(D) National Library of India

106.

107.

108.

109.

110.

Classification number for Physics in
DDC is

(A) 520
(B) 510
(C) 530
(D) 540

The basic principle of library building
design is/are

(A) Future growth
(B) Flexible

(C) Provision of areas
(D) All the above

Luther Gulick coined the term
(A) POSDCORB
(B) POSTCORB
(C) POSTCORP
(D) POSTCORD

Which of the following is/are the source
of revenue for the library ?

(A) Government grants
(B) Library fines and fees

(C) Income from reprographic services,
translation services etc.

(D) All the above

As estimate, often itemized of expected
income and expense or operating
results for a given period in the future
is known as

(A) Budget
(B) Finance
(C) Recruitment
(D) Planning
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102.

1083.

104.

105.
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IO
urez vafaferes fawg - washt uw

01. Y&dwier o &1 fadia fam 2

(A) TETHTETT U Fedl T3 8
(B) e WA % fetu 2

(C) UeH 1S il Ueh J&dah el &
(D) WIS & 1 U UISH &

Q&% NN &l 9w &l 3 w3

Waﬁwm@ﬁaﬁmm
FEER F ATH FH & d4F & 919

TTiuE Ga o

(A) e HITHES Hud

(B) IFLA

(C) zfezm Arsrdt wHIfaUYH
(D) FF=h

y1se Sfiedfife o1 gey 2

A) Araferes ufEReT &1 e
B) T 1 IRE]

(C) & g fam

(D) U 9372 dhATF

wa ¥ fra favafaanes 3 vradia ueasn
TeraIeT T | ek fewn o fore
& fran 2 ?

(A) Teoett favafeaem

(B) W& Favafaame™

(C) wzg favafaeme

(D) weinTe gieem favafereme

qEd UF GHTERTA gOar st &
sfarta aiavil &3 =g fafus smish &
faemTierR e S peaerier =i fean T 7
(A) AT SH TEaehed

(B) HFA TEAHEH, FiH

(C) T1E g Teashied, feeetl

(D) 4Rd i T T

106.

107.

108.

109.

110.
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EiEHH o Hifashl vq arfiator o @
(A) 520
(B) 510
(C) 530
(D) 540

QT 3HRA F fesiEa 1 smumd
e 2

(A) ¥fasg | 3fg
(B) wr=sfieran
(C) &l =1 ya™
(D) I G

GRIRIICED w7es fea|
(A) POSDCORB
(B) POSTCORB
(C) POSTCORP
(D) POSTCORD

frfafiea # @ -1 e & o

TS FE e 7

(A) T STFEH

(B) TEIHICH T8 3N Ik §

(C) wiafcfuso danati, samR dars
anfe § 3

(D) 3 g+t

ST % w9 1, wiasr 4 g safa s foo
STt 31T 3 = A uftEres afomE
&1 1q FEAd 2|

(A) ST

(B) fa=

(C) wdi

(D) 3T
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111.

112.

113.

114.

115.
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The Browne charging system does not
include

(A) Transaction slip
(B) Reader's ticket
(C) Date slip
(D) Book card

In DDC the universe of subjects
has been divided into main
classes.

(A) 9
(B) 10
(C) 11
(D) 8

The Delhi Public Library was set up in
(A) 1254
(B) 1951
(C) 1950
(D) 1952

A set of programs used by the computer
to perform different function is known as

(A) Applications software
(B) Programming language
(C) Operating system

(D) Natural language

FID is the body which has overall
responsibility for

(A) Dewey Decimal Classification

(B) International Classification

(C) Subject Classification

(D) Universal Decimal Classification

116.

117,

118.

119.

120.

0O OO0

A list of documents in a library or in a
collection forming a portion of it known as
(A) Library Catalogue

(B) Library Classification

(C) Indexing

(D) Abstracting

Audio-visual materials are
(A) Filmstrips

(B) Video recordings
(C) Sheet music

(D) All the above

Bookamatic, Photocharging, Token
charging are

(A) Cataloguing system
(B) Circulation system

(C) Classification schemes
(D) None of these

The barrier/s in the communication
process is/are

(A) Language

(B) Economic condition
(C) Time lag

(D) -All the above

Which among the following is considered
as an informal channel of information
communication ?

(A) Textbooks

(B) Invisible colleges

(C) Periodicals

(D) Conference proceedings



111,

112.

113.

114.

115.
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FEA M yetd . wfie
EGiRd

(A) 3faTor gt

(B) 3 #1 fewe

(C) fafer u=fi

(D) T 1

SRR ERIE I R o
a1 # sifer T R

(A) 9

(B) 10

(C) 11

(D) 8

fGechl a1 gl W T1fUq
fara |

(A) 1954
(B) 1951
(C) 1950
(D) 1952

fafae = % & foru St gra wam o
STH el T 1 TY=ad
FHEATIT 2|

(A) UATHYH BT
(B) WrITfET AT

(C) Zrafen fawen

(D) Urhfde AT

FID 98 = & =1
IWEIE a1 2|

(A) 29 YA FrTHOT

(B) sTaisdty Frffamor

(C) Tauwa afertor

(D) T gyea it

1 9HYT

116.

117.

118.

119.

120.
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T JEHIT H ST o g 91 36
9T H Toheid 59H a1 FEA &l
(A) TR F2E

(B) AT TR0l

(C) HoHIA

(D) TR-GETT

gy - 9] et &
(A) Trenfer
(B) difea frarifem
(C) sfie grfta

(D) 3o &

(A) SHEATRTT JoTTeA!
(B) WR=ETEH Jom

frafefaa & @ fFa gaan @avo &1 o
A= =9 FE AR 7

(A) T3 TE

(B) 315¥d HElaad

(C) 3Iratee g

(D) T gisamnd
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121.

122.

123.

124,

125.

Which of the following state does not
have a Public Library Act ?

(A) Kerala

(B) West Bengal

(C) Maharashtra

(D) Jammu and Kashmir

The Periodicity of Index Medicus is
(A) Monthly

(B) Weekly

(C) Quarterly

(D) Annual

A collection of records in machine
readable form is known as

(A) System
(B) Network
(C) Database
(D) Website

Which reference source provides an
account of the general direction of
research in the subject based on a

review of the documents on current
developments ?

(A) Current contents
(B) Trend reports
(C) Reviews

(D) Advances

According to S. R. Ranganathan the
canons for chain are

(A) Canon of decreasing extension and
modulation

Canon of ascertainability

Canon of array and filtery sequences
Canon of recall value

(B)
(C)
(D)

126.

127.

128.

129.

130.

Universal Decimal Classification was -
published in the year

(A) 1902
(B) 1905
(C) 1907
(D) 1901

Generally information sources have
been divided into following categories

(A) Books and Periodicals

(B) Documentary and Non-documentary

(C) Primary and Tertiary

(D) Reference and Information
Sources

MARC was first developed by
(A) Library of Congress

(B) British Library

(C) DESIDOC

(D) FID

The logical operator ‘AND’, ‘OR’ and
‘NOT were first developed by

(A) Charles Babbage
(B) Herman Hollerith
(C) George Boole
(D) Vannevar Bush

Esprit De Corps in management
means

(A) Team work

(B) Doing by one
(C) Team feeling
(D) Doing nothing
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121.

122.

123.

124.

125.
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frefafaa 9 | e 159 0 59 gased
sffm i g ?

(A) A

(B) ufvem s
(C) wHeEnTg

(D) <9 3T FIHi

g Afewa 6 anafsa 2
(A) TS

(B) ®TATE®

(C) It

(D) =Ty

qyfig & 934 17 ®Y °§ AVAE F1
qFH Feeal 2|

(A) SOt

(B) =z

(C) ErEE

(D) d&ETEe

gty fawm w eEst i adian
9 aTiE fomg § SgEaE i Gy
fosn =1 v @ FE ged |19 3ueey
FA1e ?

(A) Fa9H Gt
(B) 2= frré
(C) HHteTd

(D) fIm

TH. 3R, THIYHE & S8R Hael & fgi
(A) Toramon o3 sfifase & e = fagia
(B) Tafveram = foagma

(C) unvft 3R B Wi F1 g

(D) T w1 faga

126.

127.

128.

129.

130.
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" werifaTa o mm)
(A) 1902
(B) 1905

(C) 1907
(D) 1901

arT=IE g |t 1 fefaiaa aftai
7 aier T 2

(A) TETF 3w s gt

(B) e&arasil 3R M-gwarash

(C) wrafaes AR geftas

(D) HeM iR =1 9l

MARC T&ei! R
faam |

(A) FE F1 FHGT
(B) Teifew grarrer™
(C) DESIDOC

(D) FID

aTfehes uftarei® ‘AND’, ‘OR’ 311 ‘NOT’
51 et IR fersrfta for mu)
(A) dTed ol

(B) BHA BCIfY

(C) ISl el

(D) a4

Yoy | TfEe 3 i &7 ot 2
(A) THa

(B) T TR AT

(C) <m wran

(D) FSAFHET
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131.

132.

133.

134.

135.

-24-

Accession number means

(A) Unique number for a book
(B) Call number of a book

(C) Book number

(D) Class number

Questions requiring more time and the
use of more than one reference source
are normally called

(A) Short range reference
(B) Referral service
(C) Long range reference
(D) None of these

CD-ROM is a

(A) Application software
(B) Storage device

(C) Computer language
(D) Operating system

Which layer of ‘OSI" model occurs
between ‘Network’ and ‘Physical’ ?

(A) Transport
(B) Data Link
(C) Session

(D) Presentation

Which one of the following network is
primarily for Education and Research ?

(A) ERNET
(B) NICNET
(C) INFLIBNET
(D) OCLC

136.

137.

138.

139.

140.

Which of the following is not a part of -
New Encyclopaedia of Britannica ?

(A) Macropaedia
(B) Propaedia
(C) Premedia
(D) Micropaedia

CAS is

(A) A process of dissemination of
current or new information

(B) A process of dissemination of
information

(C) A process of information
(D) A simple information service

Full form of OCLC is

(A) Online Catalogue of Library of
Congress

(B) Online College Library Centre
(C) Online Computer Library Centre
(D) None of these

To visit a site on the web, the screen
displays a document called

(A) Server

(B) Home Page
(C) Seepage

(D) Search engine

Network is a

(A) Virtual appliance that connects
computer

Software program
Interconnection between computers

Group of individuals or organizations
that are interconnected

(B)
(C)
(D)
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132.

133.

134.

135.
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(D) OCLC
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141,

142,

143.

144,

145.

The first ever library school was started
in USA by

(A) Berwick Sayer
(B) H. P.Luhn
(C) Paul Otlet
(D) Melvil Dewey

The concept of Selective Dissemination
of Information (SDI) was introduced by
(A) Kaiser

(B) H.P.Luhn

(C) Melvil Dewey

(D) Derek Austin

IASLIC is an information centre for
(A) Academic libraries

(B) Special libraries

(C) Public libraries

(D) School libraries

Ranganathan postulated the concept
of five fundamental categories viz.
Personality, Matter, Energy, Space
and

(A) Task

(B) Technique
(C) Time

(D) Theme

UNISIST is

(A) International system for the transfer
of information

Documentation centre in India

Type of special information service
in humanities

Directory

(B)
(C)

(D)

146.

147.

148.

149.

150.

10 000 0 0 000 0

Integrated circuits used in

(A) Third Generation Computers
(B) Second Generation Computers
(C) First Generation Computers
(D) Fourth Generation Computers

McColvin advanced his of
Book selection.

(A) Mathematical Theory

(B) Theory X and Theory Y

(C) Bureaucratic Theory

(D) Demand and Supply Theory

Who is the author of the book ‘Information
Services in Libraries’ ?

(A) Walford A. J.
(B) KatzW. A.

(C) Foskett D. J.
(D) Sheehy E. P.

The library is to borrow from other library
Is known as

(A) Acquisition

(B) Inter Library Loan Service
(C) Reference Service

(D) SDI Service

Bibliotheque Nationale is the national
library of

(A) Russia

(B) France

(C) Germany

(D) Japan
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151.

192

153.

154.

185.

The Drury principles are related with the
in the library.

(A) Management
(B) Classification
(C) Book selection
(D) Cataloguing

Indian National Bibliography is a
(A) National Bibliography

(B) Trade Bibliography

(C) Subject Bibliography

(D) International Bibliography

The middle value(s) of all the data
points is

(A) Standard Deviation
(B) Median
(C) Mean
(D) Mode

The ability to use a computer and its
softwares to accomplish practical tasks
IS known as

(A) Computer Literacy
(B) Media Literacy
(C) Information Literacy
(D) Digital Literacy

A communication network connecting
devices spread over a wide geographical
area is called

(A) Local Area Network

(B) Metropolitan Area Network
(C) Wide Area Network

(D) None of these

156.

157.

158.

159.

160.

161.

0O 0 OO0 0

A brief objective representation of the -
essential content of a book, article,

speech, report, dissertation or other
work is called

(A) Abstract
(B) Index

(C) Bibliography
(D) Dictionary

A small label of closely spaced bars that
can be read by a computer is

(A) QR Code
(B) Bar Code
(C) DOI
(D) OMR

University Grant Commission (UGC)
was constituted in

(A) 1951
(C) 1952

(B) 1953
(D) 1954

A national body which provides major
financial support to public libraries is
(A) NML

(B) NBT

(C) IFLA

(D) RRRLF

Common Communication Format (CCF)
was developed by

(A) IFLA

(B) UNESCO

(C) Library of Congress
(D) FID

Koha software was created by

(A) Environ Software Private Limited
(B) Autolib Software

(C) Katipo Communications

(D) Algorithms Pvt. Ltd.
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Which of the following is not associated
with communication process ?

(A) Message
(B) Transmitter
(C) Receiver
(D) Catalogue

A systematic series of operations to
achieve the desired result is called

(A) Processor
(B) Input

(C) Output

(D) None of these

A technique which combines the best of

programme budgeting and performance

budgeting is known as

(A) Formula Budget

(B) Lump Sum Budget

(C) Planning Programming Budgeting
System

(D) Line Iltem Budget

Which one of the following is not a
output device ?

(A) Display Screen
(B) Key Board
(C) Printers

(D) Graphic Plotter

The sending back of the knowledge
about the message to the transmitter
IS known as

(A) Message
(B) Feedback
(C) Transmitter
(D) Receiver

167.

168.

169.

170.

171.

Modem stands for
(A)
(B)

Modem Memory

Mainframe Operating Device
Memory

Modulator Demodulator
Modern Memory

(C)
(D)

Which of the following is not a library
network ?

(A) INFLIBNET
(B) ARPANET
(C) DELNET

(D) CALIBNET

Which one of the following is not a
classification scheme ?

(A) Dewey Decimal Classification
(B) Universal Decimal Classification
(C) International Classification

(D) National Classification

Who said “Library is the Heart of
University Work” ?

(A) S. Radhakrishnan
(B) S. R. Ranganathan
(C) D.S. Kothari
(D) W. A. Bordon

Software for University Libraries (SOUL)
was developed by

(A) UGC

(B) NIC

(C) INFLIBNET
(D) DELNET
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Sears list of subject headings was first
published in

(A) 1921
(B) 1922
(C) 1923
(D) 1924

Which one of the following is not a
programming language ?

(A) BASIC

(B) C++

(C) COBOL

(D) Google Chrome

In Madras University Library ‘Three
Card System’ was introduced by

(A) Neelameghan

(B) S. R. Ranganathan
(C) Krishna Rao

(D) Murugan

Sanjay Software developed by
(A) INFLIBNET

(B) DESIDOC

(C) Tata Unisys

(D) NISSAT

National Library of India is located at
(A) New Delhi

(B) Calcutta

(C) Bangalore

(D) Bombay

177.

178.

179.

180.

181.

In chain procedure subject index entries
or subject headings is derived from

(A) Class number of a document
(B) Book number

(C) Call number

(D) Index number

Library of Congress was founded in the
year

(A) 1802
(B) 1800
(C) 1803
(D) 1904

The process of restoring order among
the books is called

(A) Stock verification
(B) Shelf rectification
(C) Shifting of documents
(D) Dusting and cleaning

Which of the following is not geographical
source 7

(A) Maps

(B) Atlases

(C) Globes

(D) Encyclopaedia

Legally Secured Right to publish and
sell the substance and form of a literary,
musical, dramatic and artistic work is
called

(A) Copyright

(B) Patent

(C) Trade Literature
(D) Directory
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182.

183.

184,

185.

186.

Story hours for children is the example of
(A) Reference Service

(B) Information Service

(C) Translation Service

(D) Extension Service

Farmington Plan is related to
(A) Cataloguing

(B) Classification

(C) Library cooperation

(D) Acquisition

The Egyptian book was made up of
(A) Papyrus

(B) Palm leaves

(C) Paper

(D) Stylus

The word ‘Library’ is derived from the
Latin word ‘liber’ which means

(A) Document
(B) A book
(C) Afile

(D) Newspaper

A library in which a significant proportion
of the resources are available in
machine-readable format, accessible
by means of computer is known as

(A) Media Library

(B) Digital Library

(C) Special Library
)

(D) Film Library

187.

188.

189.

190.

191.

The association known as ASLIB was
founded in 1924 under the title

(A) Association of Special Libraries and
Information Bureaux

Association of School Libraries and
Information Bureau

Association of Special Information
Bureaux

Association of Special Library in
Bangladesh

(B)
(C)

(D)

FID central office is located in
(A) Washington

(B) London

(C) Chicago

(D) The Hague

The first librarian of the imperial library
at Calcutta is

(A) John Macfarlane
(B) S. R. Ranganathan
(C) K. M. Asadullah
(D) B. S. Keshavan

Which of the following method/s can be
used for stock verification ?

(A) Accession register

(B) Loose sheets containing accession
numbers

A register containing accession
register

All the above

(C)
(D)

URL stands for

(A) Universal Resource Locator
(B) Uniform Resource Locator
(C) Uniform Reform Locator
(D) Universal Reform Locator



182.

183.

184.

185.

186.

-35-

=i wEd Bl fHeg 1 UF
IR 2 |

(A) Fed HaT

(B) F=1 &l

(C) HATE &l
(D) oo gan

FIfde TN T gafeE 2 |
(A) AT AT

(B) aFfieram

(C) THHIcTd HEHIAl

(D) 3fermem

e = g
(A) TurTH
(B) dreyud
(C) =TS
(D) W™

Tt ot |

yIe2 g Afed wee foev @ Fpen 2,
et 219 2

(A) TEEH

(B) TF &

(C) U wrsd

(D) THTENGH

187.

188.

189.

190.

191.

MKG-XX/TECHLIB/1T/05

ASLIB & 918 & SH SHTaT i

1924 1 yitdes & Ty &1 78 |

(A) THIGUEE HTE Wyd aRafie g
TABHYH gAY

(B) THITHUIM 1% THd agaid U
FEMYH S

(C) vHIftusA 3% e AETHYA
e

(D) TEIfowE #Hi® Wye @Esd 3
AT

FID F21@ FaTad HfeEe
(A) ATEETEA

(B) &

(C) T

(D) B&m

FAFl & R GEaFd H1 99H
RIS B

(A) W%‘Hﬁ?

(B) TH. AR, THIH

(C) . TH. HETZeR

(D) 1. TH. F¥Ed

frafafed # @ F9-# fafl ver ==
AWM A T EFA L 7

(A) Tg= qiSH

(B) WEH T At Gefl T3

(C) U ufsrert forgd ug dfsrr &

(D) 3 At

URL =1 fawar 2

(A) Ffada frad amee
(B) e frard et
(C) gHwd frpid Sahet
(D) Ifada fowd et



MKG-XX/TECHLIB/1T/05

192.

193.

194.

195.

A system of writing developed by the
ancient Sumerians is

(A) Cuneiform
(B) Palm leaf

(C) Paper

(D) Clay tablets

Network for the exchange of information
in Science and Technology in Asia and
the Pacific is

(A) NEST
(B) ASTINFO
(C) NISTA
(D) ASTP

INSDOC stands for

(A) Indian National Scientific

Documentation Centre

(B) International Scientific

Documentation Centre

(C) Indian National Social Science

Documentation Centre

International Social Science
Documentation Centre

(D)

Newark Charging System was devised
by the American Librarian

(A) Melvil Dewey

(B) Henry La Fontaine
(C) John Cotton Dana
(D) John Drury

196.

197.

198.

199.

200.

Y0 5O 00O

PERT is a

(A) Collection of data
(B) Job description

(C) Job analysis

(D) Statistical technique

Three card system is used for

(A) Acquisition and control of periodicals
(B) Shelf list

(C) Circulation of books

(D) Cataloguing of books

Bibliographic Classification Scheme
was devised by

(A) Melvil Dewey
(B) F. Rider

(C) H.E.Bliss
(D) H. P. Luhn

Which one of the following is not a
primary source ?

(A) Dictionary
(B) Conference papers
(C) Patents

)

(D) Research reports

In computer output device function is to
(A)
(B)
(C)

Receive data
Produce results

Perform arithmetic and logic
functions

(D) Hold data, instructions, processed

data
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Iaftean o fere wewgut sHeEw

13.

14.

19

.

18.

19.

This booklet contains 40 pages.

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.
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The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you blacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)




